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 AMT-01  

BACHELOR’S DEGREE PROGRAMME (BDP) / 

CERTIFICATE PROGRAMME IN TEACHING OF 

PRIMARY SCHOOL MATHEMATICS (CTPM) 

Term-End Examination 

February, 2021 

(APPLICATION ORIENTED COURSE) 

AMT-01 : TEACHING OF PRIMARY SCHOOL 

MATHEMATICS 

Time : 3 hours Maximum Marks : 100 

  (Weightage : 70%) 

Note :  Question no. 1 is compulsory. Answer any eight 

questions from questions no. 2 to 10. Keep your 

answers to the point. The answer to a four marks 

question should not be longer than 100 words. 

 

1. (a) ‘A driver uses mathematics while driving.’ 

Do you agree ? If so, justify your answer 

with the help of two examples, each from a 

different area of mathematics. If you don’t 

agree with the given statement, explain 

why. 4 

(b) List all the pre-number concepts. For any 

one of them, explain how knowing it is 

helpful in learning numbers. 4 
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(c) Give two common problems children face 

while learning negative numbers. Also give 

an activity to help a child overcome any one 

of these problems. 4 

(d) Outline a series of two activities to help a 

child learn the concept of ‘angle’. 4 

(e) Explain why estimation is an important skill 

to acquire. Give one activity to help develop 

this ability, in the context of the addition of 

decimal fractions. 4 

2. Which of the following statements are true ? 

Give justification for your answers. 10 

(a) Mathematics is hierarchical in nature. 

(b) A child’s daily life offers many practical 

opportunities to learn mathematical 

concepts.  

(c) A child who can recite the number names 

from 1 to 20 knows counting.  

(d) Open-ended questions are not a good tool for 

assessing a child’s mathematical abilities. 

(e) A single mathematical expression can 

represent only one real-life situation. 
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3. (a) Explain the process of generalisation with 

the help of an example related to an indoor 

game. Further, describe two distinct 

activities to assess the extent to which a 

class of 25 children have developed the 

ability to generalise. 6 

(b) Give an example related to measurement in 

support of the statement, ‘A child’s mind is 

not a clean slate.’ Justify your example. 2 

(c) Write 830 in base 4. 2 

4. (a) Pictorially represent 6 

(i) 
2

1
  

6

1
 , 

(ii) 
4

3
 – 

3

2
 , 

(iii) 
8

5
 < 

4

3
. 

(b) Explain the stage ‘concrete operational’ as 

defined by Piaget. Give an example to 

illustrate the points made in your 

explanation. 4 
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5. Give 5 guidelines a teacher should keep in mind 

while planning a lesson. Illustrate them in the 

context of a lesson for introducing children of 

Class III to the concept of time. 10 

6. (a) Explain the statement, ‘‘Algebra is a 

generalised form of arithmetic’’. Your 

explanation should include two examples.   5 

(b) List two errors children commonly make 

while dividing a three-digit number by a  

two-digit number. Describe a constructivist 

strategy to overcome any one of these 

difficulties. 5 

7. (a) List 2 distinct spatial concepts. Describe an 

activity to help children learn the  concept 

of symmetry and an activity to assess the 

effectiveness of the first activity. 5 

(b) (i) Find the difference between the 

capacity and volume of a solid brick 

with sides 6 cm, 2·05 cm and 1·1 cm. 

(ii) Give an activity to introduce a child to 

the concepts of volume and surface 

area of an irregular solid object. How 

would you modify the activity to work 

with 30 children of a classroom, with 

the same aim ?  5 
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8. (a) When a student in the third standard was 

asked to  write the number ‘Four Hundred 

Seventy Six’, she wrote 40076. What could 

be two possible reasons for making such an 

error ? Suggest an activity to help her 

rectify her error. 4 

(b) Give three reasons for children making 

mistakes while solving word problems. 

Illustrate the mistakes through word 

problems related to subtraction. 6 

9. (a) Explain the E-L-P-S sequence in learning. 

Illustrate this sequence in the context of 

introducing the concept of measurement. 6 

(b) Suggest an activity using objects around us 

to introduce the learners to right angle, 

acute angle and obtuse angle. How do you 

use this activity to help them classify the 

three types of angles ?  4 
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10. (a) Assessing and evaluating children has to be 

an integral part of instruction. Explain this 

statement, using examples related to the 

learning of ‘area’.  6 

(b) Prove that the sum of any two odd integers 

is an even integer. Will the sum of any three 

odd integers be even ? Why ? 4 
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 E.E_.Q>r.-01  

 ñZmVH$ Cnm{Y H$m`©H«$_ (~r.S>r.nr.) /  
àmB_ar {dÚmb` J{UV Ho$ AÜ`mnZ _|  
à_mU-nÌ H$m`©H«$_ (gr.Q>r.nr.E_.) 

gÌm§V narjm 

\$adar,  2021 

(ì`dhma_ybH$ nmR²>`H«$_) 

E.E_.Q>r.-01 : àmB_ar ñHy$br J{UV {gImZo Ho$ VarHo$ 

g_` : 3 KÊQ>o  A{YH$V_ A§H$ : 100 

 (Hw$b H$m : 70%) 

ZmoQ> :   àíZ g§. 1 A{Zdm ©̀ h¡ & àíZ g§. 2 go 10 _| go {H$Ýht AmR> 
àíZm| Ho$ CÎma Xr{OE & AnZo CÎma {~ÝXþdma Xr{OE & Mma A§H$ 
dmbo àíZm| Ho$ CÎma 100 eãXm| go A{YH$ Zht hmoZo Mm{hE &  

1. (H$) ‘H$moB© ^r S´>mBda Jm‹S>r MbmVo hþE J{UV H$m à`moJ 

H$aVm h¡ &’ Š`m Amn Bggo gh_V h¢ ? `{X gh_V h¢, 

Vmo J{UV Ho$ {d{^Þ joÌm| go Xmo CXmhaUm| H$s ghm`Vm 

go AnZo CÎma H$s nwpîQ> H$s{OE & `{X Amn Bg H$WZ 

go gh_V Zht h¢, Vmo ~VmBE Š`m| & 4 

(I) g^r g§»`m-nyd© AdYmaUmAm| H$mo gyMr~Õ H$s{OE Am¡a 

BZ_| go {H$gr EH$ Ho$ {bE g_PmBE {H$ g§»`mAm| H$mo 

grIZo _| `h H¡$go ghm`H$ hmoVr h¢ & 4 
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(J) G$UmË_H$ g§»`mAm| H$mo grIVo hþE ~ƒo {OZ Am_ 
g_ñ`mAm| H$m gm_Zm H$aVo h¢, CZ_| go H$moB© Xmo  
~VmBE & BZ_| go {H$gr EH$ g_ñ`m H$mo Xÿa H$aZo _| 
~ƒr H$s _XX Ho$ {bE EH$ J{V{d{Y ^r ~VmBE &  4 

(K) ~ƒr H$s ‘H$moU’ H$s AdYmaUm H$mo grIZo _§o _XX Ho$ 
{bE EH$ Ho$ ~mX EH$ H$s OmZo dmbr Xmo J{V{d{Y`m| 
H$s ê$naoIm Xr{OE & 4 

(L>) g_PmBE {H$ A§XmµOm (AZw_mZ) bJm nmZo H$s j_Vm 
H$mo hm{gb H$aZm Š`m| _hÎdnyU© h¡ & Xe_bd {^Þm| 
H$s O_m H$aZo Ho$ g§X^© _| Bgr `mo½`Vm H$mo {dH${gV 
H$aZo _| _XX Ho$ {bE EH$ J{V{d{Y ~VmBE & 4 

2. {ZåZ{b{IV _| go H$m¡Z-go H$WZ gË` h¢ ? AnZo CÎmam| H$s 

nwpîQ> H$s{OE & 10 

(H$) J{UV H$m ñdê$n nXmZwH«${_H$ h¡ & 

(I) {H$gr ^r ~ƒr H$mo J{UVr` AdYmaÊmmE± grIZo Ho$ 
{bE CgH$s amoµO_am© {µOÝXJr Cgo H$B© ì`mdhm[aH$ 
Adga àñVwV H$aVr h¡ & 

(J) dh ~ƒr Omo 1 go 20 VH$ H$s g§»`mAm| Ho$ Zm_ ~mob 
gH$Vr h¡, dh {JZZm OmZVr h¡ & 

(K) _wº$moÎma (open-ended) àíZ EH$ ~ƒo H$s J{UVr` 
`mo½`VmAm| Ho$ AmH$bZ H$aZo H$m AÀN>m gmYZ Zht  
h¢ & 

(L>) EH$ EH$b J{UVr` ì`§OH$ dmñV{dH$ OrdZ H$s Ho$db 
EH$ hr pñW{V H$mo {Zê${nV H$a gH$Vm h¡ & 
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3. (H$) ^rVar Iob go g§~§{YV EH$ CXmhaU H$s _XX go 

ì`mnH$sH$aU H$s à{H«$`m H$s ì`m»`m H$s{OE & BgHo$ 

AmJo, H$jm Ho$ 25 ~ƒo {H$g hX VH$ ì`mnH$sH$aU H$s 

`mo½`Vm H$mo {dH${gV H$a nmE h¢ & BgH$m AmH$bZ H$aZo 

H$s Xmo AbJ-AbJ J{V{d{Y`m| H$m dU©Z H$s{OE & 6 

(I) H$WZ ‘EH$ ~ƒo H$m _mZg ({X_mJ) Imbr ñboQ> H$s 

Vah Zht hmoVm h¡’ Ho$ nj _| _mnZ go g§~§{YV EH$ 

CXmhaU Xr{OE & AnZo CÎma H$s nwpîQ> H$s{OE & 2 

(J) AmYma 4 _| 830 {b{IE & 2 

4. (H$) {ZåZ{b{IV H$mo {MÌ ê$n _| {Zê${nV H$s{OE : 6 

(i) 
2

1
  

6

1
  

(ii) 
4

3
 – 

3

2
  

(iii) 
8

5
 < 

4

3
 

 

(I) {n`mµOo Ûmam n[a^m{fV ‘_yV© g§{H«$`mË_H$’ AdñWm H$s 

ì`m»`m H$s{OE & AnZo ñnîQ>rH$aU _| {OZ ~mVm| H$m 

AmnZo C„oI {H$`m h¡ Cgo ñnîQ> H$aZo Ho$ {bE EH$ 

CXmhaU Xr{OE &  4 



AMT-01 10 

5. nmR> H$s `moOZm ~ZmVo g_` EH$ AÜ`m{nH$m H$mo {OZ nm±M 
_mJ©Xeu {gÕm§Vm| H$mo Ü`mZ _| aIZm Mm{hE, ~VmBE & H$jm 
III Ho$ ~ƒm| H$mo g_` H$s AdYmaUm H$m n[aM` H$amZo Ho$ 
{bE nmR> Ho$ gÝX^© _| ñnï> H$s{OE & 10 

6. (H$) ‘‘~rOJ{UV A§H$J{UV H$m ì`mnH$sH¥$V ê$n h¡,’’ Bg 
H$WZ H$mo ñnîQ> H$s{OE & AmnHo$ ñnîQ>rH$aU _| Xmo 
CXmhaU em{_b hmoZo Mm{hE & 5 

(I) VrZ A§H$ H$s g§»`m H$mo Xmo A§H$ H$s g§»`m go 
{d^m{OV (^mJ) H$aVo hþE ~ƒo AŠga Omo Xmo 
µJb{V`m± H$aVo h¢, CÝh| gyMr~Õ H$s{OE & BZ_| go 
{H$gr EH$ H${R>ZmB© H$mo Xÿa H$aZo Ho$ {bE aMZmdmXr 
VarHo$ H$m dU©Z H$s{OE & 5 

7. (H$) ñWmZ-g§~§Yr Xmo AbJ-AbJ AdYmaUmE± gyMr~Õ 
H$s{OE & ~ƒm| H$s g_{_{V H$s AdYmaUm H$mo 
g_PZo _| _XX Ho$ {bE EH$ J{V{d{Y H$m dU©Z 
H$s{OE Am¡a Bgr J{V{d{Y H$s H$maJaVm H$m AmH$bZ 
H$aZo Ho$ {bE EH$ AÝ` J{V{d{Y ~VmBE & 5 

(I) (i) 6 go_r, 2·05 go_r Am¡a 1·1 go_r ^wOmAm| dmbr 
R>mog BªQ> H$s Ym[aVm Am¡a Am`VZ Ho$ ~rM A§Va 
kmV H$s{OE &  

(ii) EH$ ~ƒr H$mo A{Z`{_V R>mog dñVw Ho$ Am`VZ 
Am¡a n¥îR>r` joÌ\$b H$s AdYmaUmAm| go 
n[a{MV H$amZo Ho$ {bE EH$ J{V{d{Y ~VmBE & 
30 ~ƒm| dmbr {H$gr H$jm Ho$ ~ƒm| H$mo BÝht 
AdYmaUmAm| go n[a{MV H$amZo Ho$ {bE Bg 
J{V{d{Y _| Amn Š`m ~Xbmd bmE±Jo & 5 
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8. (H$) Vrgar H$jm Ho$ EH$ {dÚmWu H$mo O~ ‘Mma gm¡ 

{N>hÎma’ {bIZo H$mo H$hm J`m Vmo CgZo ‘40076’ 

{bIm & Bg µJbVr H$aZo Ho$ Xmo g§^m{dV H$maU Š`m 

hmo gH$Vo h¢ ? ~ƒr H$s Bg µJbVr H$mo gwYmaZo _| _XX 

Ho$ {bE EH$ J{V{d{Y gwPmBE & 4 

(I) B~maVr gdmb hb H$aVo hþE ~ƒo Omo µJb{V`m± H$aVo 

h¢, CZHo$ VrZ H$maÊm ~VmBE & KQ>m H$aZo go g§~§{YV 

B~maVr gdmbm| Ho$ _mÜ`_ go BZ µJb{V`m| H$mo CXmhaU 

g{hV ñnîQ> H$s{OE & 6 

9. (H$) grIZo Ho$ g§X ©̂ _| A-^m-àm-{M H«$_ H$mo ñnîQ> 

H$s{OE & _mnZo H$s AdYmaUm go n[a{MV H$amZo Ho$ 

g§X^© _| Bg H«$_ H$mo ñnîQ> H$s{OE & 6 

(I) g_H$moU, Ý`yZ H$moU Am¡a A{YH$ H$moU go n[a{MV 

H$amZo Ho$ {bE EH$ Eogr J{V{d{Y gwPmBE {Og_| AnZo 

Amgnmg CnbãY dñVwAm| H$m BñVo_mb {H$`m J`m  

hmo & VrZm| àH$ma Ho$ H$moUm§o H$m dJuH$aU H$aZo _| _XX 

Ho$ {bE Amn Bg J{V{d{Y H$m à`moJ H¡$go H$a|Jo ? 4 
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10. (H$) ~ƒm| H$m AmH$bZ Am¡a _yë`m§H$Z H$aZm {ejU H$m 

EH$ A{^Þ {hñgm hmoZm Mm{hE & ‘joÌ\$b’ {gImZo go 

g§~§{YV CXmhaU XoVo hþE Bg H$WZ H$mo ñnîQ> H$s{OE & 6 

(I) {gÕ H$s{OE {H$ {H$Ýht Xmo {df_ nyUmªH$m| H$m `moJ\$b  

g_ nyUmªH$ hmoVm h¡ & Š`m {H$Ýht VrZ {df_ nyUmªH$m| 

H$m `moJ\$b ^r g_ hmoJm ? Š`m| ? 4 


